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* 6 L—A BEIRFiE HEFE (23:36)
BHRES 2ESY L—R 35 R R
B V. BF4. B o = 25 iy
K. i @ ® @® ® ® @ W pop:d HE @EH HE LAY HE HE LAY
ARz 10 1 3 0 0 3 2 1 0 0 10.0 40.0 40.0 0| 3.37 3.465| 3.40 4.10 3.495
2013 (MN—#%)| 10 1 3 0 0 3 2 1 0 0 10.0 40.0 40.0, 0| 3.37 3.465| 3.40 4.10  3.495
B-85 (MNGE) 0
(A —HE) 0
1 =SB tH— 0| @ofc) o
na 73 8 13 13 11 10 10 6 2 O 10.9 28.7 46.5| 0| 3.34 3.419] 3.40 3.90 3.482
JIIET 20HA {RERIZ 5 2 0 0 1 1 0 1 0 O 40.0 40.0 40.0/ 0| 3.36 3.468| 3.39 3.60 3.494
58i% PEZIN 6 1 0 0 0 1 1 3 0 O 16.6 16.6 16.6| 0| 3.37 3.459| 3.41 5.50 3.499
LB 2 0 1 0 0 1 0 0 0 O 0.0 50.0 50.0/ 0| 3.39 3.432| 3.39 3.50 3.443
ARz 52 412 7 6 9 6 4 4 1 7.5 30.1 43.3 1 3.29 3.399 3.36 4.11 3.461
2920 (MN—%) 28 0 10 6 4 3 4 1 0 O 0.0 35.7 57.1 0| 3.29  3.399| 3.34 357  3.445
A-131 (MNGE) 0
(ofs—#%)| 15 3 2 1 2 5 1 1 0 0 20.0 33.3 40.0, 1| 3.34 3431 339 373  3.491
M HP ESHR 20 2 cofteH) 9 1 0 0 0 1 1 2 4 1 10.0 10.0 10.0/ 0| 3.33  3.421| 3.36 6.44  3.465
e 4 0 1 1 0 0 2 0 0 O 0.0 25.0 50.0/ 0| 3.36 3.466| 3.36 4.25 3.484
fRix 29HA {RERIE i0 3 2 1 1 0 2 O 1 O 30.0 50.0 60.0/ 0] 3.33 3.441| 3.35 3.40 3.463
4475% JEAR 12 0 1 2 3 3 0 3 0 O 0.0 8.3 25.00 0] 3.32 3.419| 3.34 4.66 3.447
LB 26 0 1 1 4 4 4 9 3 0 0.0 3.8 7.6 0| 3.33 3.424| 3.36 5.84 3.465
ARis 78 916 1119 8 6 7 2 0| 11,5 32.0 46.1 0 3.34 3.419 3.39 3.73 3.469
2715 (MN—%) 43 4 5 8 12 4 5 5 0 0 9.3 20.9 39.5| 0| 3.34 3.419) 3.38 397  3.457
A-94 (MNGE) 0
(zof—#%)| 28 5 10 2 4 3 1 2 1 0 17.8 53.5 60.7| 0| 3.34  3.420 3.40 321  3.487
N IR E2Z 20 ®ofte#®) 7 o 1 1 3 1 0 0 1 0 0.0 14.2 28.5| 0| 337 3439 339 428  3.468
na 15 2 2 0 2 1 5 2 1 O 13.3 26.6 26.6| 0| 3.34 3.416| 3.38 4.73 3.442
fRix 275A {RERIE 4 0 0 O 1 2 0 0 1 O 0.0 0.0 0.0/ 0| 3.37 3.452| 3.38 5.50 3.462
A477% Pz 0
LB 27 2 3 2 7 3 6 2 2 0 7.4 18.5 259 0] 3.34 3.408| 3.38 4.55 3.464
ARis 75 14 19 711 711 5 1 1| 184 434 52.6 0| 3.32 3.401 3.38 3.48 3.464
2409 (MN—#%)| 43 10 14 5 5 3 5 1 0 0 23.2 55.8 67.4| 0| 3.32  3.401| 3.36 290  3.439
A-125 (MNGH#) 0
(zof—#%)) 25 3 5 2 5 3 5 2 0 0 12.0 32.0 40.0/ 0/ 3.35 3.437| 3.42 3.92  3.503
N PR 30 ®ote®)| 7 1 0o o0 1 1 1 2 1 1 12.5 12.5 125/ 0| 332  3.426] 339 542  3.484
Ne 12 1 1 2 1 2 1 2 2 0 8.3 16.6 33.3] 0] 3.32 3.429| 3.37 4.91 3.455
ARt 245H FRERIE 0
53i% JEAR 11 0 2 2 1 1 2 1 1 0.0 16.6 33.3] 0] 3.37 3.430, 3.39 4.81 3.469
LLIB& 13 3 3 0 2 3 1 0 1 1 21.4 42.8 42.8/ 0| 3.31 3.389] 3.36 3.53 3.429
ARis 70 18 11 9 8 510 7 2 0| 25.7 414 54.2 1| 3.30 3.383| 3.35 3.55 3.456
2822 (MN—#%)| 39 16 9 5 5 2 0 2 0 0 41.0 64.1 76,9/ 1| 3.30 3.383] 3.33 238  3.429
A-148 (MNGH#) 0
(FoM—Hg) 21 1 1 2 2 3 7 4 1 0 4.7 9.5 19.0/ 0| 3.34  3.428/ 3.40 523  3.509
5 AR PEIL 30| ®ofte#) 10 1 1 2 1 0 3 1 1 0 10.0 20.0 40.0/ O 3.32  3.406| 3.35 4.60  3.448
e 6 0 1 1 2 1 0 1 0 O 0.0 16.6 33.3] 0] 3.32 3.399, 3.33 4.16 3.416
fiRizx 28HA {RERIE 5 0 0 0 2 3 0 O O O 0.0 0.0 0.0/ 0| 3.33 3.420| 3.35 4.60 3.447
447% JEAR i0 2 1 1 2 1 0 0 3 O 20.0 30.0 40.0/ 0| 3.31 3.395| 3.34 4.40 3.427
LLIB& 20 8 3 4 2 0 3 0 O O 40.0 55.0 75.00 0] 3.30 3.363| 3.33 2.60 3.408
ARi5 42 6 4 6 6 412 3 1 0 14.2 23.8 38.0 0 3.27 3.376 3.35 4.21 3.457
2315 (MN—#%)| 16 5 2 4 3 0 2 0 0 0 31.2 43.7 68.7| 0| 3.27 3.376| 331 281  3.413
A-66 (MNGE) 0
(zof—#%) 18 1 2 0 3 2 8 2 0 O 5.5 16.6 16.6| 0| 3.35  3.444| 3.38 4.94  3.498
me & 30| (RofGE) 8 0 0 2 0 2 2 1 1 0 0.0 0.0 25.0, 0| 3.31  3.424 335 537  3.455
na 7 0 0 2 1 1 2 1 0 O 0.0 0.0 28.5| 0] 3.30 3.410, 3.32 4.85 3.430
frix 23HA RERIZ 11 0 2 0 2 3 1 2 1 0 0.0 18.1 18.1| 0| 3.28 3.412| 3.34 5.00 3.451
52i7% PEZYN 7 0 O0 1 1 2 2 0 1 O 0.0 0.0 14.2) 0| 3.32 3.443| 3.34 5.28 3.460
L= 26 2 5 4 6 1 4 2 2 0 7.6 26.9 42,3/ 0| 3.28 3.368| 3.35 4.11 3.444
ARis 46 11 11 8 5 5 4 1 1 1, 234 46.8 63.8/ 0 3.28 3.357| 3.33 3.06 3.439
2813 (MN—#%) 19 6 6 2 2 3 0 0 0 0 31.5 63.1 73.6| 0| 3.28  3.382| 3.32 247  3.418
A-21 (MNGH) 0
(zofs—#%)| 20 4 5 3 1 2 4 0 1 0 20.0 45.0 60.0 0| 3.32  3.420| 3.36 3.45  3.465
7 EBF EE 40 @oftew) 7 1 0 3 2 0 0 1 o0 1 12.5 12.5 50.0, 0| 3.28 3.357| 3.31 3.57  3.418
na 18 4 1 4 3 0 1 3 2 O 22.2 27.7 50.0/ 0| 3.25 3.353| 3.31 4.05 3.415
iz 28HA RERIZ 5 0 1 0 1 0 1 1 1 0O 0.0 20.0 20.0 0| 3.34 3.431| 3.37 5.40 3.465
41% SR 25 3 4 1 4 3 3 3 4 0 12.0 28.0 32.00 0] 3.27 3.376| 3.30 4.64 3414
L= 27 11 4 2 3 2 1 3 1 O 40.7 55.5 62.9 0| 3.26 3.358| 3.30 3.03 3.405
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% 6 L—A BIRTFE HETFE (23:36)
BRES. 2E5Y L —R 35 R RR
# 7 BT & AR 18 HE HEH = 1K 2i JE BM 2 RE ] )
LERES B © @ @ @ ® ® @ B £ x xE EH HE LAY BHE BEE LAY
Al 0
2013 (MN—#%) 0
B-85 (MNGH) 0
(ZOfth—1%) 0
1 =SB tH— 0| @ofc) o
ne 12 0 0 0 2 1 6 1 2 O 0.0 0.0 0.0 O 6.00
JIIE 20HA RELE 1 0 0 0 0 1 0 O O O 0.0 0.0 0.0 O 5.00
587% AR 3 0 0 1 0 O 1 1 0 O 0.0 0.0 33.3] O 5.33
L5 1 0 0 0 0 1 0 O O O 0.0 0.0 0.0 O 5.00
ARt 16 5 2 3 2 4 0 0 0 0 31.2 43.7 625 0 2.87
2920 (MN—#%)| 9 2 1 1 2 3 0 0 0 0 222 333 444 0 3.33
A-131 (MNG#)| 0
Zoft—f%)| 3 1 1 1 0 0O 0 0O 0 O 33.3 66.6  100.0, 0 2.00
] P ESEHE 20 ofte#)) 4 2 0 1 0 1 0 0 0 O 500  50.0 750/ O 2.50
ne 2 0 1 1 0 O O 0 0 O 0.0 50.0 100.0f O 2.50
Hrizx 29HH REAIE 11 0 0 0 0O 0 O O O] 100.0 100.0 100.00 O 1.00
447% AR 1 0 0 0 01 0 0 O O 0.0 0.0 0.0 O 5.00
L5 i0 1 1 1 2 3 1 1 0 O 10.0 20.0 30.00 O 4.20
Al 13 1. 2 1.2 3 2 2 00 7.6 23.0 30.7 O 4.38
2715 (MN—#%) 6 1 1 0 2 2 0 0 0 O 166  33.3 333 0 3.50
A-94 (MNGH#)| 0
oft—#%)| 3 0 1 0 0 0 2 0 0 O 00 333 333 0 4.66
N IR 32 20 ®ofte#®%)) 4 o0 0 1 0 1 0 2 0 0 0.0 0.0 250/ 0 5.50
ne 4 1 0 0 0.0 0.0 25.00 0 5.50
ERix 2758 REE 0
47 7% AL 0
L5 6 1 0 1 0 2 0 1 1 O 16.6 16.6 33.3] O 4.83
Al 20 7 5 4 2 01 01 0 350 600 800 1 2.55
2409 (MN—#%) 11 5 2 2 2 0 0 0 0 0 454 636 818 1 2.09
A-125 (MNGE) 0
Zoft—#%)| 5 2 0 2 0 0 1 0 0 0 400 400  80.0 O 2.80
N R F 30| zoftes) 4 3 0 0 0 0 00 750 750/ © 3.50
ne 2 10 0 0 O 50.0 50.0 50.0/ O 2.50
ERix 2458 REE 0
53i% AR 1 0 0 0 1 0 0O O O O 0.0 0.0 0.0 O 4.00
1P 6 3 1 1 0 1 0 0 0 O 50.0 66.6 83.3] 0 2.16
Ak 20 1 4 3 2 6 2110 5.0 25.0 40.0 O 4.15
2822 (MN—#%)| 10 1 1 2 1t 3 1 1 0 0 100 200 400 O 4.10
A-148 (MNGE) 0
oft—#) 7 0 2 1 1 3 0 0 0 O 00 285 428/ O© 3.71
5 AR PEIL 30| ®ofte#®)| 3 0o 1 0 0 0 1 0 1 0 0.0 33.3 333 0 5.33
ne 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
ERix 28HA FRERIG 2 0 0 1 0 O 1 0 O O 0.0 0.0 50.0/ O 4.50
4475% AR 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
L5 4 0 1 1 0 1 1 0 O O 0.0 25.0 50.0/ O 4.00
AR 1711 2 1 1 0 2 0 0 0 64.7 764 823 0 2.00
2315 (MN—#%) 9 6 2 0 0 0 1 0 0O 0 666 888 888 0 1.77
A-66 (MNGE#)| 0
(zoft—#%)| 4 3 0 0 1 0 0 O 0 O 750 750 750 0 1.75
Mea BB 30| ®ofte®®) 4 2 0 1 0 0 1 0 0 O 50.0 50.0 75.0/ 0 2.75
ne 1 0 1 0 0 0 0O O O O 0.0 100.0 100.00 O 2.00
ARt 2354 R 2 0 1 00 1 0 0 O O 00 500 500 0 3.50
52i% AR 11 0 0 0 0O 0 0O O O] 100.0 100.0 100.00 O 1.00
L% 4 2 0 1 1 0 0 0 O O 50.0 50.0 75.00 O 2.25
AR 13 1 2 01 4 04 10 7.6 23.0 23.0 O 5.00
2813 (MN—#%)| 7 1 2 0 0 2 0 2 0 O 142 428 428 0 4.14
A-21 (MNGE#)| 0
zoft—#%)| 3 0 0 0 1 0 1 0 0.0 0.0 00 0 6.66
7 BT £EFE 40 (cofte#r)] 3 0 0 1 0 1 0 0 0.0 0.0 00/ © 5.33
ne 4 0O 1. 0 0 2 0.0 25.0 2500 O 5.00
Bz 28 PRI 0
417% AR 2 0 0 01 0 1 0 O O 0.0 0.0 0.0 O 5.00
LB 7 0 1 0 2 2 1 1 0 O 0.0 14.2 14.2) 0 4.71
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* 6 L—A BEIRFiE HEFE (23:36)
EREES. £EHSY L—R IG5 iR
B 9.8FA FE. 4 = 3 iy
#. FE5 ® @ ® @ ® ® @ -4 g NE RBH HE EHNYV O HE O FE 2 EHV
fRix 1 0 0 0 0 O1 0 OO 0.0 0.0 0.0 O 6.00
2013 (MN—1%) 1 0 0 0O 0 0 1 0 0 O 0.0 0.0 00/ 0 6.00
B-85 (MNGE) 0
(A —HE) 0
1 =SB tH— 0| @ofc) o
na S 0 0 1 2 3 1 2 0 O 0.0 0.0 11.1] O 511
JIIE] 20HA {REAE 0
58i% JEAR 3 0 0 0O 1 1 1 0 0 O 0.0 0.0 0.0 O 5.00
LB 0
fRix 7 2 0 0 21 2 0 0 O 285 285 285 O 3.85
2920 (MN—#) 4 0 0 0 2 1 1 0 0 0 0.0 0.0 00/ 0 4.75
A-131 (MNG#)| 0
(ZOAB—HE) 2 1 0 0 0 0 1 0 0 O 50.0 50.0 50.0/ 0 3.50
M HP ESHR 20 2 cofteH) 1 1 0 0O 0 O O O 0 0| 1000 100.0 100.0, O 1.00
e 0
fRix 29HA {FERIZ 0
4475% PEZYN 0
LB 3 1. 0 1 0 1 0 0 0 O 33.3 33.3 66.6/ 0 3.00
ARz 14 0 2 3 1 5 1 1 10 0.0 142 35.7 O 4.50
2715 (MN—#%)| 10 0 2 3 0 3 1 1 0 0 0.0 20.0 50.0/ 0 4.10
A-94 (MNGE) 0
(At —AE) 0
N IR 32 20 ®ofte®%)) 4 0o 0 0 1 2 0 0 1 0 0.0 0.0 00 0 5.50
na 1 0O 0 01 0 O O 0.0 0.0 0.0 O 6.00
fRix 275A {FERIZ 0
47% PEZYN 0
I 0
ARz 8 1.1 1 3 2 0 0 0 0 125 25,0 375 O 3.50
2409 (MN—#) 5 1 1 1 1 1 0 0 0 O 20.0 40.0 60.0, 0 3.00
A-125 (MNGE) 0
(A —AE) 0
N AR LI 30 (=oftcs) 3 0 0 0O 2 1 0 0 0 O 0.0 0.0 0.0/ o 4.33
Ne 1 0 O 1 0 0 0 O 0.0 0.0 0.0 O 4.00
fRizx 24HA {RERIZ 0
53i% JEAR 3 1.1 0 0 1 0 0 0 O 33.3 66.6 66.6/ 0 2.66
LLIB& 1 0 0 1 0 0O 0o 0o 0 o 0.0 0.0 100.0f O 3.00
ARz 8 1.1 2 01 2 1 0 0 125 250 50.00 O 4.12
2822 (MN—1%) 3 1 1 1 0 0 0 0 0 O 33.3 66.6  100.0| O 2.00
A-148 (MNGE) 0
(ZOAt—A%) 3 0 0 1 0 0 1 1 0 O 0.0 0.0 33.3] 0 5.33
5 AR IS 30 ®oftcH) 2 0 0 o0 1 0.0 0.0 0.0, 0 5.50
Ne 2 0 O 0 1 0 1 O 0.0 0.0 0.0 O 6.00
ARtz 28HA {REAE 0
447% JEAR 1 0 0 O O O o 1 0 o 0.0 0.0 0.0 O 7.00
LLIB& 2 1 0 0 1 0 0 0o o0 O 50.0 50.0 50.00 O 2.50
AR 5 2 1 00200 0 0 400 60.0 60.0 O 2.80
2315 (MN—1%) 3 2 0 0 0 1 0 0 0 O 66.6 66.6 66.6] 0 2.33
A-66 (MNGH) 0
(Bt —H) 0
me & 30| (RofMtiGE) 2 0 1 0 0 1 0 0 0 O 0.0 50.0 50.0, O 3.50
Ne 3 2 0 O O O 1 0 O 66.6 66.6 66.6/ 0 2.66
ARt 235A {REAE 0
52i7% PEZYN 1 0 0 1 0 0 0o 0o 0 o 0.0 0.0 100.0f O 3.00
L= 4 1 1 1 0 1 0 0 0 o 25.0 50.0 75.00 O 2.75
iz 5 2 0 2 0 00 0O1 0 400 40.0 80.0 O 3.20
2813 (MN—H) 3 1 0 2 0 0 0 0 0 O 33.3 33.3  100.0| O 2.33
A-21 (MNGE) 0
(ZOAE—H) 0
7 BFEFE 40 ®ofte®) 2 1 0 0 0 0 0 0 1 0 50.0 50.0 50.0 0 4.50
Ne 3 1.0 0 0O 1 0 1 0 O 33.3 33.3 33.3] O 4.33
iz 28HA RERE 1 0 0 00O OO 1 0 0.0 0.0 0.0/ 0 8.00
41% SR 1 0 0 O 1 0 0O 0o 0 o 0.0 0.0 0.0 O 4.00
L= 2 0 0 1 01 O O 0 O 0.0 0.0 50.00 O 4.00
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